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QUESTION 1

You are troubleshooting your OSPF configuration and notice that you have subnet mismatch errors when
running the show ospf statistics command.

Which two actions would further troubleshoot the errors? (Choose two.)

A. Examine your interface configuration on impacted devices.

B. Examine the interface assignment to areas in your OSPF configuration.

C. Examine the stub configuration for mismatches.

D. Examine messages from the trace options log file.

Correct Answer: AD

QUESTION 2

Click the Exhibit button.
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{master:0} [edic]

nserfhostf show interfaces

ge=0/0/0 |

unit O {
family echernet-awitching {
interface-mode acceas:
vlian |
membearas 101;

}
}
}
]
ge=0/0/1 |
unpit O |
family ethernec-switching |
vian {
mepbers office;
}
}
1
}
ge=0/0f2 |
unic 0 {

family ethernet-awitching |
interface-mode trunk;
vian |
zépbers all;
}

)

{master:l) [edic]
userfhoscé show vlians
gffice {

vian-id 101;
}

{master:0) [edit]
userfhoscé run show vians

Routing inscance VLAN name Tag Incerfaces
default-awitch default 1
ge=0/0/2.0%
defaulc-swictch ofice 101
ge-0/0/0.0%
ge-0/0/1.0%
ge-0/0/2.0%

{master:0) [edic]
userfhosc§

Referring to the exhibit, which three statements are true? (Choose three.)

A. Interface ge-0/0/1 is an access port.
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B. There are no active ports in the default VLAN.

C. The switch cannot be managed through the production network.

D. Frames on interface ge-0/0/2 can be tagged with VLAN ID 101 or VLAN 1.
E. Frames on interface ge-0/0/0 can be tagged with VLAN ID 101.

Correct Answer: ACE

QUESTION 3

Click the Exhibit button. Referring to the exhibit, which policy will export routes to IBGP peers?
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M\ Exhibit
[edit protocols bgp]

userfrouter# show
preference 150;
keep all;
mtu-discovery;
export static-1;
remove—private;
top-mss 405%6;

group one {

export static-Z;

peer—-as 2;
neighbor 10.1.0.1 |{

exXport static-3:

}

group two {
tvpe internal;
local-address 192.168.1.11;
export static-4;
local-as 1;
neighbor 192.168.1.12;
neighbor 19%2.168.1.13

A. static-4
B. static-1
C. static-3

D. static-2
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Correct Answer: A

Explanation; Type internal in group two indicates refers to an IBGP route.

QUESTION 4

Which three BGP attributes are well-known and mandatory? (Choose three.)
A. AS Path

B. Next Hop

C. MED

D. Local Preference

E. Origin

Correct Answer:. ABE

QUESTION 5

Which statement is true about GRE tunnels?

A. GRE tunnels can be used for only IP packets.

B. GRE tunnels ensure that a packet does not live forever.

C. Packets are encapsulated unchanged before entering the tunnel.
D. GRE tunnels support point-to-multipoint.

Correct Answer: C
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